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General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to attempt both the sections.

(ii) All questions are compulsory.

(iii) There is no overall choice.

(iv) All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in one word or in one
sentence

(vi) Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered in about 30 words each.
(vii) Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered in about 50 words
each.

(viil) Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered in about 70 words
each

(ix) Question numbers 25 to 42 in Section-B are multiple choice questions based on practical skills. Each question is a
one mark question. You are to select one most appropriate response out of the four provided to you

#Ter-37 /| SECTION-A

1 el ¥ UE HETE 0 H G A O W EE A6 76§ T 35 1
FFANA T W % FoHE & avat €1 w0 & AW fatay qo ) § gz
w1 srafeed g ?
J.Chadwick discovered a subatomic particles which has no charge and has

mass nearly equal to that of a proton. Name the particle and give its
location in the atom.

2 What is the lowermost category in the hierarchy of classification of groups 1
of organisms?

<ial % aita e § feem ol @mm E 2
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Name the major component of the atmosphere found on venus.

Will advanced organisms be the same as complex organisms ? Explain.
1 UF Yoia: fekiaa i it o fea sita w § 2 2 smen #iv

Write three distinguishing features of phylum Echinodermata. Give one
example.
TEEIEHe FrEeE & i d far wa fafae ) sw o sae o i

T U @ H uREdd W g Ef & G #) wefEi e € s

wHifaw |
The propagation of sound is visualized as propagation of density and
pressure variations. State reason.

TF AHE T [ T G & g I @ IR 1 B e @R
@ Tl ST f T g 2

A block of wood can float while a similar sized block of concrete can be
used as an anchor ? Why?

Sl % 3.011 x 10 WAV F1 ger dfwfaa Fifag) (qom g
O=16u)
Calculate the mass of 3.011x10** atoms of oxygen. (Atomic mass of
O=16u)

42 fag Ty s rerga wifog au fag e e & I fafay
0l TARH et =R
A 2 3 4
B 10 9 8
c 8 8 8
D 8 8 10
(@) @Vl A, B,C a9 D FI ZoIHM GG qu1 TCAIY] HeEA| fara |
b R wwetn o gm i s ¥ 2 smen wif )
Study the data given below and answer the questions which follow :
PARTICLES | ELECTRONS | PROTONS | NEUTRONS
A 2 3 4
B 10 9 8
C 8 8 8
D 8 8 10
(a) Write the mass number and atomic number of the particles A, B, C, D.
(b)  Which Particles represent a pair of isotopes ? Explain.
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Na', K™ AL, Mg ™, Ca™ Zn ™ & W&kl (PO, )& Twmaf+# g7 fafaw)
Write the chemical formulae of phosphates (PO:’”) of Na™*, K*, Al”,
Mg'? Ca™, Zn"

Write one point of difference each, between the following :
(a) Amphibians and Reptiles

(b) Aves and Mammals

(c) Gymnosperm and angiosperm

frfafea § w@-uw siw fafay .-

(a) STeTEHE =T a” HOYY

(b)  waft qe T

(o) foreiremd qen fsrend

Define the following :
(1) Lichens (i) Cryptogamas (iii) Phanerogams
freferfaa 1 uftmn fafaa :

@ o EEA ) fEenm () i ()

State reasons for the following :

(a) Bryophytes are called amphibians of the plant kingdom.
(b) Gymmnosperms are called so.

() Birds have wings and feathers.

(@) IR F WEY I 1 IHAE FE WGl £
(b) “foreAred’ =1 TE e SR
(o dieEi % w e vE A F

3w sifaes Tfer 1 A fofae qgn ofenfog Fifse St fee gard &t g #:

R w21 e F N cm® F YR 1 emd W F R SR € ?
Name and define a physical quantity that expresses compactness of matter.
How many cm® of glycerine will weigh same as is 1 cm of mercury ?

Page 3 of 13




[image: image4.jpg]Y g ow o g owgd fm f T A oWl ‘e & gRE w
frheadl 7 | yaifeq & W 41, @ FF A AW Am-faw & Wy
T W % R TEE W 3ER dE f agd W ag-ag un @
T 9 o W forn a1 ‘wfdn @@ e, @g0 W) wEEgEl qfdE s
o W T & fag @l @ Wi # @ 91 vE 9ma A da
w3 @M FeEs T § g e wO@ § 9 I T w@ T,

| I WAl K HEEH # WA fRE qd EEEEaEl & owy et

i & fd1 " & forg faaw faam

a9 ffafEs v % IW fafen -

(@) WHa w FA WO WA e 87

) & gREE w A yarfed fEa S @ e v @2

©) TRE F I yWE § a9 & fau #% uw gemE fafau)

Manav is very fond of Durga Puja. On the day of immersion in the
nearby river he accompanied his parents. When they reached at the
bank of river, he saw a large number of containers which read “Put
the idols here”. Many volunteers were guiding people to place their
idols in the containers Manav did not resist, when he saw some
people forcibly immersing the idols in river. He along with the
volunteers tried to educate them and forced the people to follow the
instructions. Now answer the following questions :-

(a) Which quality of Manav is depicted?

(b) What happens when idols are immersed in river water?

(c) Write one suggestion that how can we save our rivers from
the above adverse effect.

20 uw fEawan 3w W@ wife & @ mEmtE ofed
(Tt sfvfwan) 2 € @ s ¥ w1 viads 16 o

With the help of an activity verify that there is no change in mass when a
chemical change (chemical reaction) takes place.
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(b)  Cell wall of fungi is made up of chitin.
()  Whatis the chemical nature of chitin ?
(i) _ Whatis the mode of nutrition in fungi ?

@ R ¥ Wit w yawe foa fwd 3 on A /9EY T a, b, ¢, d,

e ¢few u §1 ¥ v aun g T At 1 whe -

m:rﬂth Frdfem ey wht
) )
o g -
WD
i o -
il 4 e
Lo
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(b) A Y R T wEf F A A R
@) I i e vt o ?
@) e H o fafy e @2

22 (a) wElw w8 wHT HfEEl B I Al T ad § @ des F heE B
il e T T ?

(b) it § gan fawwie wEW &1 wAE W g T AW ¥ FEw Afed
A FFS |
(@ oY T e g @ e

(a)  Why can we hear the sound produced by the humming bees while
the sound of vibrations of pendulum is not heard ?

(b) Explosion in stellar space is not audible on the surface of moon.
Explain.

(© Why is bell provided with a big outer case ?
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(b) Account for following
(5] Ship made up of iron float but nail of iron sink ?
(i) It is easy to swim in sea water ?

i § Fre = F1 acEa frevw Fifag) v} Seifirr wifa gd d aw @

arHEe ¥ FA TS B i S @
mendiagmmnut'mmpmsmhﬁonofmbal—Cycleinm. Why has
ﬂlepercmtngeoiaxrbmdimddeinﬂ\enhnnsphuedouﬂedsimeme
industrial revolution ?

T | SECTION - B

vﬂﬁtwtﬁaﬁﬁwﬁﬁaﬂﬁﬁmﬁ@aﬁmﬁaﬁ,
sy 79 el § 5 IR ¥ s F T AR ¥

@ e e R g () G T I

@ oW A R R @) @hee, feEd aan T
e gl
Inmexpmmvaifyﬂnhwsdmﬂaﬁmofscmﬂ,ﬁpqmlity
ofsomdbeatdismmdmmwimﬂleixmersutﬁmo{ﬂ\emhesm

(a) sclid and potishied 5) sotiali and uneven
(c) solid, smooth and polished (d)hoﬂuw,smooﬂnmldpol'slmd

a6 W ¥ o o Sft @ g srereen, Ford aw et 3 v @ wwon e &
%:
@ T ) o © om @ e
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The least counts of the spring balance and measuring cylinder respectively are :

40

60

80
\ 100
(@ lgwtlmL () 1lgwt2mL
© 2gwtlmL @  2gwt2mL

fardit 30 F1 T IR FT F 74§, FIHER goN F g i

Aik

Toft Y A, B AU CH T T |
)  Faw Tl A Y CH UF T
© FFE El padic H & W
(@) vy § fafien

In an experiment to determine the density of a solid, the readings of the spring
balance will be :

Bik

equal to each other in all cases A, B and C
(b) equal to each other in cases A and C only
()  equal to each other in cases B and C only
(d)  different in every case
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When an object is immersed in a fluid, buoyant force depends on :
(a)  density of the object

(b)  density of the fluid

(9  volume of the fluid
(d)  shape of the container having fluid

25 mL $TAR 1 T g B PR frere § ol v @ gan woIed wR F e
&t 157 wr ¥ foeEn w R

(@ 06g/mL () 167g/mL

(9 15g/mL (&) 25g/mL

An object of volume 25 mL suffers a loss in weight of 15 gwt when
immersed fully in a solution. The density of solution is :

(@) 06g/mL (®) 167g/mL

() 15 g/mL (d) 25g/mL

A glass slab of dimensions 8 cm 3 5 cm 34 cm is placed on a piece of
paper. The slab may be placed on a piece of paper with three diffesent
sucfaces in contact with the paper. The pressure is maximum :-

(@)  When10cm 3 5 cm surface is in contact with paper.

()  When 10 cm 3 4 cm surface is in contact with paper.

()  When5 cm 3 4 cm surface is in contact with paper.

(d)  Pressure will be same in all the three cases.

8con3 5 cm 3 4 cm TG A6 ©F Fia W 9w W 0 IR W @ w0 E
qfg F AR W A FE-sEm Ged W @ T f IR W an @
ftrram @nm -

(@) 9@ S 10 cm 3 5 cm YW & Hodh #H B

(b) 5 G 10 am 3 4 cm TR F Hodh F 1

(€ 98 HEH 5 cm 3 4 cm T & W H 1

@ o wE g T WA TE @
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To observe and compare the pressure exerted by the three faces of a
cuboid on sand, the following apparatus is available in the laboratory

(@) Iron cuboid

(i) Aluminium cuboid of same dimensions

(iii) Coarse sand ina tray

(iv) Very fine sand in a tray

The best choice would be :

(@) Iron cuboid and Coarse sand

(b) Aluminium cuboid and Coarse sand

(¢) Iron cuboid and fine sand

(d) Aluminium cuboid and fine sand

et oA & i FE g @ T G T @ H AW a9 GO FA F
ferg, sirremen # i few T 9T Sveed €

@ @

) T fammedl aren Ygfufrem w1 an

@) 3H @@

v) TH AW

(a) R I S A T W () ghufET F T T o
@i

(c) @ TSI A WEE W (@) gfufam & e o w@éH
W

Tt R T W wteR 9 e e F A g R
(@ A ®) N2 (@ M4 @ 2

The distance between a compression and the consecutive rarefaction in a

longitudinal wave is :
@ A ® M2 () M4 @ 2
fiient & sr{oe 0 e w1 & e

(@) T SR F T oA ¥ quR W) g o
(b @A SR % wwdifed fan s #

()  @dd BRI i &1

(@) 390 d B 7@

For producing a transverse wave along a slinky,

(@) the free end is jerked at right angle to its length
(b) the free end is compressed.

(© the free end is pulled

(d)  None of these
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Microsporophylls are found in :
(a) Male cone of Pinus

(©) Fern (d) Funaria

e AR W S §

(@) IR F WAHE (b) TR H AR HH
© w d) wrfen

Seeds are naked in

(a) Angiosperms (b) Gymnosperms

© s (d) Pteridophytes

9 ﬂwm

(@)  ufowred & )  Forirend

(©  wEwEaF @ fewEad

Four students A, B, C and D were asked to observe the specimen of
earth worm and to find the most characteristic feature on the basis of
which the animal hes been placed in its phylum. They reported as
follows:

@

A:Anus

B : Clitellum

C: Annuli

D : Peristonium

The Correct feature is of student

@ A () B ©@ ¢ @ D

= forenfii A, B, C 7 D # F F A Mem O F wewm I we

fafere. wem forad anum w3 W @ F w@n T E, §hoF F fag e
T A W G T R E

AT B : AT c:tgeft D fEfEm
for Fereneif % wlt wem) fedé Frmam
@ A () B @ C @ D

(b) Female cone of Pinus
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Whjd:moftbe(ollowhgisnotayplimble to Earthworm ?

(@)  Clitellum ()  Segments
(c) Prostomium d) Anal cercus
Frefefan 5 & F9u % fe St 37390 76 & 75, &

(a) gAY () G (o) W=y (d) e gy

16.8 g TfEan TSI FrElYE N 120 g Gifew @ F =ren T T T o w5
FHA 200 g &1 R W % Frm & sen sfufen § fee aeh cogita 5
ESTH RN :

ﬁfaamxmwmmmmwmﬁwmmﬁwmmt
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mmﬁmtﬁmvﬁmﬁq;

@ FETEE ) 3w FeiEE

()  ifeam wetne (@)  oifemm TR

Ashldmtperformedmmﬁvitylnvrri.fyﬂ:ehwofcmumlﬁmofmnsinn
chemical reaction using solutions X and Y. Identify the solution “Y’ which can react

with “X” namely Sodium chloride.
(a)  Lead Nitrate (b)  Barium Chioride

© Sodium Sulphate (d)  Sodium Carbonate

A student is of tl!eseedsmdﬁowersofapenplnnt He has

(© monocotyledonous seeds and trimerous flowers
(d) monocof hdmmsseedsmdpﬂﬁmm_rousﬂowexs
T BT T & N F il o el AR w36 e Ay

aitsil SR gl 3 i H i ferelt | ot s

(@ T s qen fadt g ®) fEiewt e qy
gt B

(@ o s s g P g (d) T 99 i de
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Four students represented the sequence of developmental stages
during the life cycle of a mosquito as given below. The correct sequence
is:

(a) egg, larva, pupa, adult. (b) egg, pupa, larva, adult.

() larva, egg, pupa, adult. (d) pupa, egg, larva, adult.

R Bl 7ee & e @) fawnia sl & w e w9 A fagger

et fFm wdi wm R -

(a) 3, v, T, FaH (b) 378, v, =,
(c) @, 32, T, FHER (d) 9, 2, T, Fawh
-00o0-
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